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EXAM PAPERS PRACTICE

Linear Functions & Graphs Mark Schemes

Question 1a

The equation of aline [, is2x =y + 6 = 0. ll) /ﬂl\,& x-ml'f,(‘[,gfjl’ s UJA&[\ ’:S =O.

(a) For the line [, find
2 - (0) +6 = O
(i) the y-intercept

(ii) the x-intercept x=-3

(iii) the gradient.

o AMle x-lw"uccplr <« ab (-3, 0).

[3]
A new line, [, intersects the x-axis at (4, 0) and is perpendicular to [;. . )
i Rwrrcmge L who HU form y= Mo + ¢,
(b)Find
(i) the gradient of the line [, . W l'\ e m (& H’\'& 8“"/\0[( w/t' .
(ii) the equation of the line I,. Give your answer in the form ax + by +d = 0, _
where a, b and d are integers. 2 x - ’:S + 6- = O

B Y= TR - 1)“’8 ond rearrange

(V3 5ra.dludr ot L s 2.

D) e %-mh’/ccpi' < whea x:=0
2(0) - W+ 6 - 0

16: 6-
R (W3 s-mhuepl- i« ab (0, 6).

For more help, please visit www.exampaperspractice.co.uk


http://www.exampaperspractice.co.uk

=

EXAM PAPERS PRACTICE

Question 1b

The equation of aline [; is 2x —y + 6 = 0.
(a) For the line [, find

(i) the y-intercept

(ii) the x-intercept

(iii) the gradient.

m, = 1
[3]
A new line, [, intersects the x-axis at (4, 0) and is perpendicular to [;.
(b)Find
(i) thegradient of the line [,
(ii) theequation of the line I,. Give your answer in the form ax + by +d = 0,
where a, b and d are integers.
[3]

Question 2a

The coordinates of point A are (2, 8) and the coordinates of point B are (—8, 2). M is the midpoint
of [AB].

(a) Find the coordinates of M.

[2]
The line [, passes through A and B.
(b)Find the gradient of [;.

[2]

(c) Find the equation of the line /;. Give your answer in the form ax + by +d = 0,
where a, b and d are integers.

[3]

b)) Pecpencliciler grcul\wbk

i) Pol - %rcw(l&nf' formule
g-u, = m (o-a,)
(4, 0) -7
Lub xe, Y ond m. whe Y- = (e - 2e,).

|

- = =7 -L{

®- © 7 (- 1) )&kpwd 0
.,S-.o—;:xa(l
113-‘-9(*4

(i formula  booklet)

DLAJ m, = :

POW\,I'

o

x 1

) rﬂ&ffﬂf\%& O m[.ﬁéé
&, b on n
x + g -4 =0 e

0) Mldpom/' formu lu

2 we)

Al2,8) B(-8, 2)
Sub A ond B who
M (2+(8) g+a.)

o (o5 24

M=(-3,S)

(n formule  booklet)

Fo(MtAch "o F(ILA M
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Question 2b

The coordinates of point A are (2, 8) and the coordinates of point B are (—8,2). M is the midpoint b) &fa(l ( M(( Fo (M[,(_ l(,(
of [AB].

(a) Find the coordinates of M. M = u (W\ Formu\o. BOOH(LI')
X, - X,

[2]

The line I, passes through A and B. A [ 1( 8 ) 8 (’8( Z)
(b)Find the gradient of ;. Sub A W g IMO Eormula - F"w{ m, .

[2]
sz 2-8
Y

(c) Find the equation of the line I;. Give your answer in the form ax + by +d = 0,
where a, b and d are integers.

[3] M= - (4

Question 2¢

The coordinates of point A are (2, 8) and the coordinates of point B are (—8, 2). M is the midpoint C) POW\]' = %(\CL[IL (en ‘L FO( MleDL
of [AB].

(a) Find the coordinates of M. (é - l/&( = M ( 2 -2, ) (W\ Fo(muln EOOH&I’)
*
2] Al2, 2 ) Mm =3
The line {; passes through A and B. S
(b)Find the gradient of [;. i = 2 S(Ab A av\{d W\, IVLPO %-%‘ = M ( % - 9%, )
il 2] -
(c) Find the equation of the line ;. Give your answer in the formax + by + d = 0, ‘:S N g ol E ( X - 2 )
where a, b and d are integers. &kpan ()L R HS
.3 &
3] 5 = it = z * -

) rearranye !’O M;ak&
&, ‘3 anol C n
3¢ - S+ 3= O C

NB Yo could alse use B
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Question 3a

The coordinates of point A are (1, 7) and the coordinates of point B are (5, 5). M is the midpoint a) M | d.()o n 3’ FO mm M[ (V3

of [AB].
X+ X tUa
(a) Find the coordinates of M. { ' lﬂ lj ) (W\ Fo(mulu hOOH& )
2 2

[2]
The line [, passes through the points A and B. p\( ( J 7 ) 8 (6 ( 6 )
(b)Find the equation of ;. Give your answer in the form of y = mx + c. Sub A &‘I\A ‘g H/V"O FO(M M[& "O Fll\d M .

[2]

1 +5 745

A new line, I,, is the perpendicular bisector to [;. M = a2 ) a

(c) Find the equation of I,. Give your answer in the form of y = mx + c.

. _ /6 12
B3 M= (I 7_>

M= (3, 6)

Vo

Question 3b

The coordinates of point A are (1, 7) and the coordinates of point B are (5, 5). M is the midpoint b) &fﬂ- J { Ml( FO (MOL I.(l
of [AB].

(a) Find the coordinates of M. M = S‘ 5 %' (IV\ formula l)Ole’-ILl’)
X, - I,

[2]

The line I, passes through the points A and B. A ( l [ 7 ) 8 (6‘ 6 )

(b)Find the equation of [,. Give your answer in the form of y = mx +¢.
Sub A wwl B wmbo foemule. o Fmo( m,.
[2]

A new line, [,, is the perpendicular bisector to [;. M' - S—-7 M\: = L
S| 2
3] SUb A M A ((A"O lé‘(.é. :ﬂ/\(x’%‘).
1
u- 7= -5 (s-1)

(c) Find the equation of [,. Give your answer in the form of y = mx + c.

) (’,xpc«mi RHS

14

) 7
5] ¢

L [
4= "zx*t 3

6-7; —‘—?_;(,Jr

Pi=
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Question 3¢

The coordinates of point A are (1,7) and the coordinates of point Bare (5, 5). M is the midpoint L) [7_ 5 F&(F en 0(,(. CM(QJ( LO [/, o VLL/ ’QLZSS&S
of [AB].

(a) Find the coordinates of M. M z ( kY ) G ) H‘(Ot{ﬁ I/\- M d
2 Pes P enclewdocr gr cul\evtl’%

The line {; passes through the points A and B.

. . . . Mgy = _ e m o= _ |

(b)Find the equation of ;. Give your answer in the form of y = mx + c. ™M, .1
Y= - -;-_ s + % 2]
- - My =
Anew line, [, is the perpendicular bisector to [,.
(c) Find the equation of I,. Give your answer in the form of y = mx + ¢. M ( 3, 6 ) MVL(} Ml = 2_
v Sub M ol ma nfo lé’lé.:fv\(u—x,).
L y- 6=2(x-3)
Y- 6=2> -6
lﬁ =2
Question 4a

Plumber A charges a fixed fee of $25 plus $15 per hour. a\ l CJ. en {'l Flj Hl\.e/ ‘l’n eor ﬁ/u’\ c h on,

(a) Using t for the number of hours a job takes, and C, for the total cost of a job, in dollars, from
Plumber A, write down an equation connecting ¢t and C,.

Y= mox + ¢

B y = Cn

$1S/ houc (kowlg coke)
£ hours

c= 425 (bxed fee)

A job takes the plumber seven hours.

m

\

(b) Calculate the total cost of the job.

[2] 2’

"

Plumber B charges a fixed fee of $20 plus $16 per hour.

(c) Using t for the number of hours a job takes, and Cy for the total cost of a job, in dollars, from

Plumber B, write down an equation connecting t and Cg.
2 (o= ISE+25

(d) Determine which plumber would be the cheapest for a job taking six hours.

[3]
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Question 4b

Plumber A charges a fixed fee of $25 plus $15 per hour. 13) 6 b(b E = 7 n ;O C [\
(a) Using t for the number of hours a job takes, and C, for the total cost of a job, in dollars, from [ "
Plumber A, write down an equation connecting t and C,. A= l S [ 7 ) + '1 S

Ca= ISt+25

[2]
Cn: $130
A job takes the plumber seven hours.

(b)Calculate the total cost of the job.

[2]

Plumber B charges a fixed fee of $20 plus $16 per hour.

(c) Using t for the number of hours a job takes, and Cy for the total cost of a job, in dollars, from
Plumber B, write down an equation connecting t and Cg.

[2]

(d) Determine which plumber would be the cheapest for a job taking six hours.
[3]

Question 4c
Plumber A charges a fixed fee of $25 plus $15 per hour. C) id&n ,1 Lg H\f’/ llﬂ&a(‘ p[AJ\C\LIOﬂ
(a) Using t for the number of hours a job takes, and C, for the total cost of a job, in dollars, from
Plumber A, write down an equation connecting t and C,. % = M + C

[2]

Y= (e

m= $16/ hours “"O‘“[La reke)
(2] o= ¢t houre

Plumber B charges a fixed fee of $20/plus $16 per Hour: ¢ = 420 ( i ed b )

(c) Using t for the number of hours a job takes, and Cj, for the total cost of a job, in dollars, from

Plumber B, write down an equation connecting t and Cp.
2 Cg= |6t +20

(d) Determine which plumber would be the cheapest for a job taking six hours.

A job takes the plumber seven hours.

(b)Calculate the total cost of the job.

[3]
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Question 4d
Plumber A charges a fixed fee of $25 plus $15 per hour. d) gu b }: 6 IUL('O C‘A D\VLbl- C B.
(a) Using t for the number of hours a job takes, and C, for the total cost of a job, in dollars, from
Plumber A, write down an equation connectingt:nd Cy. £A s | S ( 6) + 2 S [6 = ’6 [g) + 20

CA= IS&-*ZS
. (n= SIS e - $ll6

A job takes the plumber seven hours.

(b) Calculate the total cost of the job. ek P'MM bb’ A ls C L&‘(Per -
[2]
Plumber B charges a fixed fee of $20 plus $16 per hour.

(c) Using t for the number of hours a job takes, and Cy for the total cost of a job, in dollars, from
Plumber B, write down an equation connecting t and Cg.
Ce=|6Lt+20]

(d) Determine which plumber would be the cheapest for a job taking six hours.

[3]

Question 5a

The diagram below shows the line ;, which intersects the y-axis at A(0, 10) and the x-axis at B(5,0). C() 6’ fOLd ( Q, V\-/l— PO C M (At (8

i m= %>~ L (n formula  booklet)
xQ_ - 7{4

N A0, 10) R (s.0)
Sub Aar\d 6 m}o Fo(mula.

m,= 0=10 Soms - 2

o \ I g-0
B
 — 8§ 10 12 14 Sub A and wm, o wtbo %-%‘zmlu,x().

o y-10

) ekpo\nd RHC
(b) Find the length of [AB]. [‘/> = lo -

= -29¢
[2] ) +10

A second line, I,, is parallel to /; and intersects the x-axis at C(8, 0). ‘5 s - 1 x + 'o

(a) Find the equation of ;. Give your answer in the form of y = mx + c.

-2(2 -0)

(c) Find the equation of I,. Give your answer in the form ax + by + d = 0,
where a, b and d are integers.

[2]
(d) Find the coordinates where [, intersects the y-axis.

[1]
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Question 5b

The diagram below shows the line [;, which intersects the y-axis at A(0, 10) and the x-axis at B(5, 0). b) D ls l?cu,\ t/{/ be/lfwa& n J’[A/O PO ( V(,"s Formula

y

14 | 0( = \/{')L[ & ?(:.Y"’ (ﬂl -Lﬂl)a_ (w formula booklet)
od || A (0, 10) B(s.0)
8 i i Sub A Qu\fi R mlo focmulo .

4 : = /(o-3)*+ (10- O)*

0 2z 4 10 12 14 % d: lll wul's

(a) Find the equation of I;. Give your answer in the form of y = mx + c.

[2]
(b) Find thelength of [AB].

[2]
A second line, I, is parallel to [; and intersects the x-axis at C(8, 0).
(c) Find the equation of I,. Give your answer in the form ax + by +d = 0,

where a, b and d are integers.

[2]
(d) Find the coordinates where [, intersects the y-axis.

(1]

Question 5¢

The diagram below shows the line /;, which intersects the y-axis at A(0, 10) and the x-axis at B(5,0).

uf’ ¢) Pucallel lnes hove Hi zame gmdaw/r.
i I C($,0) ol m-m:=-2

s\ - Sub € and My b Y-y, = m e - )
|\ y-0=-2(x - %)

T | Y= -29¢ + |6

0 2 4 10 12 14 *

2x+5~l6=0

(a) Find the equation of I;. Give your answer in the form of y = mx + c.

ls:-lx + 10 2]

(b) Find the length of [AB].

[2]
A second line, Iy, is parallel to [; and intersects the x-axis at C(8,0).
(c) Find the equation of I,. Give your answer in the form ax + by +d = 0,
where a, b and d are integers.
[2]
(d) Find the coordinates where [, intersects the y-axis.
(1
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Question 5d

The diagram below shows the line L, which intersects the y-axis at A(0, 10) and the -axis at B(S,0). ({) %_ IVL(’MS&L" L\APFW‘Q when oc = O
ul” Sub =20 mlo (e
4| | | 2(0)+ y - 6 = O

"\ [ Y- (6 = O

f Nl (ﬁ'— lé

2 4 10 12 14

20 N || . u\g-ml—usul- ab  (0,16)

(a) Find the equation of I;. Give your answer in the form of y = mx + c.

[2]
(b) Find the length of [AB].
[2]
A second line, I, is parallel to [; and intersects the x-axis at C(8, 0).
(c) Find the equation of ;. Give your answer in the formax + by +d = 0,
where a, b and d are integers.
2x+Y -16=0
[2]
(d) Find the coordinates where [, intersects the y-axis.
(1]
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Question 6a

6) Lineur N;lahonsmf: Y= ma + ¢

Photocopy shop A charges $122 for 115 copies, and $190 for 200 copies.

(a) Assuming a linear relationship, find til =m (“ 5) + (— |°t0 =m (100)-}' C

(i) the price for180 copies 50{V€ SIMU\H'U.f\wLLS Muﬂ}lﬁﬂs '“‘Wg aw Gm

(ii) how many copies could be made for $385.20.
m=0% wand ¢:=30

[4]

Photocopy shop B charges $0.82 per copy and a fixed fee of $25.50. A %A = O . g > * g O

(b) State which photocopy shop is cheaper to make 220 copies.

) Sub s = (€.

%A—_ 0.%(10) + 20

[3]

laA:sl-"{

i) Sub ld;\ = 3€<.20.
RgS. 20 = 0.€5 + 30O

2 = 444 copies

Question 6b

Photocopy shop A charges $122 for 115 copies, and $190 for 200 copies. b) %A = O . g 3¢ + g O '5 g = 0 g 1 o it 25.s0

(a) Assuming a linear relationship, find (iA = 0 : % 2 + 3 0

Sub s = 220 b 5,4 ) Yg -

(i) the price for 180 copies

(if) how many copies could be made for $385.20. L:&A = O 14 ( 110) + S O (&@ = 0 f?— Cli O) +25.50
[4]

Ya = $206 Yg = $20S. 90

Photocopy shop B charges $0.82 per copy and a fixed fee of $25.50.
(b) State which photocopy shop is cheaper to make 220 copies.

R Plnol'ocop% SL\OP R i chcaper.

[3]
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Question 7a

A family can be supplied with electricity by two companies that have different pricing structures: O) L | VL&a_r rﬂl aj'( Of] S[/\( P : lﬁ = MH + C

Company A: Fixed fee of $25/month and $0.2 per kWh consumed.
Company B: Fixed fee of $10/month and $0.22 per kWh consumed.

(a) Determine the equation of the cost function for both companies, where the total monthly cost COMFMg A : % i : 2 + 2'5

y is a function of the monthly electricity consumption x in kWh.

2] ( 6 .
ompuny S : w= 0.222¢ + (0
(b) Calculate the monthly energy consumption that results in the same monthly cost from both

companies.

[4]

Question 7b

A family can be supplied with electricity by two companies that have different pricing structures: b) S el— bOH/\ CO&" FUV\CHQ‘\S eqw\ PO eClCL\ @Hnéf.

Company A: Fixed fee of $25/month and $0.2 per kWh consumed.

Company B: Fixed fee of $10/month and $0.22 per kWh consumed. KOMPaﬂg /4 = CO MFC{/\% ’g
(a) Determine the equation of the cost function for both companies, where the total monthly cost
y is a function of the monthly electricity consumption x in kWh. O 9. 2+ 26 - 0. Q 2 2¢ 4 [O

Comgamé A: y= 020 + 25 lompung B: w= 0.225¢ + (0]

Solve USING Lgour GDC.

(b) Calculate the monthly energy consumption thatresults in the same monthly cost from both
companies. *® = 7 S @
[4]

Mmﬂ«lg energy consumphan = 750k Wh
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Question 8a

Ardie’s monthly expenditure; C(x), is a linear function of his monthly income; x. Ardie’s monthly OL) L |Vlea r hﬂc&"( on : [(X) =M i+ (,

expenditure is $1000 when his monthly income is $1200 and his monthly expenditure increases
by $60 for every $150 increase in his monthly income.

m= thange W expoditurie = change W €00
(a) Write an expression connecting Ardie’s monthly expenditure, C(x), Llrfal/\qe/ A ncome t,l/‘[/\m%c (A >
with his monthly income, x.
*
2] m= ALOG
A ot

0((x) = 60 NAse =150

I} =“cl,\ange " ..

P

(b)Calculate Ardie’s monthly expenditure when his monthly income is $1885. Give your answer
to the nearest dollar.

[2]
(¢) Find Ardie’s monthly income when his monthly expenditure is $1070. Give your answer to S L{b ﬂ [ (x) D"A'CK ﬂ‘ > W\LO POFW\UL{OL
the nearest dollar.
M= 60 Som= 0.4
2] 150
' Clx) = 1000 2:=1200 wm= 0.4 [((lwo): 1000)
SIAlO C (‘JC.) i Clﬂﬁ( m M/’O ;Lormu[c\_
o4 (1200) + ¢ = 1000
) (W”&ﬂa& For c
c= S0 ¢
C(x) = 0.43¢ + S20
Question 8b
Ardie’s monthly expenditure, C(x), is a linear function of his monthly income, x. Ardie’s monthly b) SUL\D Y. = [%%g A LO C (%)
expenditure is $1000 when his monthly income is $1200 and his monthly expenditure increases

by $60 for every $150 increase in his monthly income.

( (18&5)

O-4((38S) + S20

(a) Write an expression connecting Ardie’s monthly expenditure, C(x),
with his monthly income, x.

C(x) = 0.43¢ + S20 2] (“gss) = i‘l?‘(

(b) Calculate Ardie’s monthly expenditure when his monthly income is $1885. Give your answer
to the nearest dollar.

2]
(c) Find Ardie’s monthly income when his monthly expenditure is $1070. Give your answer to

the nearest dollar.

[2]
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Question 8c

Ardie’s monthly expenditure, C(x), is a linear function of his monthly income, x. Ardie’s monthly
expenditure is $1000 when his monthly income is $1200 and his monthly expenditure increases
by $60 for every $150 increase in his monthly income.

(a) Write an expression connecting Ardie’s monthly expenditure, C(x),
with his monthly income, x.

C(5) = 0.43¢ + S20 2]

(b) Calculate Ardie’s monthly expenditure when his monthly income is $1885. Give your answer
to the nearest dollar.

[2]

(c) Find Ardie’s monthly income when his monthly expenditure is $1070. Give your answer to
the nearest dollar.

[2]

Question 9a

The diagram below represents a mountain with a west facing slope and an east facing slope labelled W
and E respectively.
Horizontal scale: 1 unit represents 100 m. Vertical scale: 1 unit represents 100 m.

y
14

12

10————+

0 10 20 30 40 50 x

(a) Find the gradient of the west facing slope.

(1]
The gradient of the east facing slope in the diagram is — %
(b) Find the total distance to hike over the mountain in km.
(6]
(c) Suggest a reason as to why the actual total distance hiked may be greater than the distance found
in part (b).
(1]

C) SUb ( (%) = 1070 w\cl gglug foc 2¢.
O-Yo +5S20 =10790 ) _<20

S5O
oy

2 = $|3-75

»’ =

W arée (0¢O) C(.”\(L ((2—0/ %)

ko Srm,(leM Formude.

o) Two Fow&s on

Lub Powd's

m= €-0
20-0

m= 0.4
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Question 9b

The diagram below represents a mountain with a west facing slope and an east facing slope labelled W b) F'Md HA"' BQMI-‘Oﬂ G‘L u'e' ml' 'S(OF&’
and E respectively. T
Horizontal scale: 1 unit represents 100 m. Vertical scale: 1 unit represents 100 m. POM}' (10, 8) Cutbl wi= - I‘a‘
. .3
4 5-8' _ED(’L‘ZO) )e_v{f)pmnl RHS
14 2 S ooand + 2
té g~ + 4
12
Fud He osc-mberect of e enst sloge.
10
D=-22 + 1y N
8 R 2
> + 5%
RNl
6 0 % = | > 5 10
o W x - 140 ¢ 3
g
2 % -inberseck o (%v 0)
0 10

S0 x Diskunce  between tuo pom)rs formula

(a) Find the gradient of the west facing slope. Vo d = [l )+ (g -4 (wn formulo booklet)
1 Tobul diskunce = wesk slor)e + eosh s|orw.

The gradient of the east facing slope in the diagram is —% Weak P()W\l—g wre  (0,0) gl (20,€).

(b) Find the total distance to hike over the mountain in km. East ponks  are (20,8) cnd (2. 0)
6] d = flo-20) + (0-8)* + Jl10-'2)*+ (&-0)*

(c) lSuggestareason as to why the actual total distance hiked may be greater than the distance found Cl - Licl L( LLV\&l’S

in part (b).

[ d=4.94 km
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Question 9¢

The diagram below represents a mountain with a west facing slope and an east facing slope labelled W C) Q w‘ l\ Fﬂ Ve, MQHA&M&J’I (2N ( [ OD[(J
and E respectively.
Horizontal scale: 1 unit represents 100 m. Vertical scale: 1 unit represents 100 m.

ﬂm% vild recson wilh an explonhen ¢ needed.

y

19 e achual bkl chstance kel

12

10 | mey be gtud'u Hon Ue cnswer n
NEE par/-(b) becouse Hee 5lcpp, ot a

S N\ mounten 158 not congkank.

0 10 20 30 40 50 x

e

(a) Find the gradient of the west facing slope.

(1]
The gradient of the east facing slope in the diagram is -
(b) Find the total distance to hike over the mountain in km.
(6]
(c) Suggest a reason as to why the actual total distance hiked may be greater than the distance found
in part (b).
(1]
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Question 10a

The straight lines l; and I, are shown in the diagram below [; intercepts the x-axis at (17, 0) and C\) l) Sl/tb [[7;0) fAV\d (O/ [7) (I/LI’O %{‘&d\(’,l/\l’ éD(W\L(LOL,
the y-axis at (0,17) and I, intercepts the x-axis at (2, 0) and the y-axis at (0,—1).

) {V](: l7-0 w\, = -l

M 0-17

6 ] I

1‘\ Sub (17, O) cnd m, wmlo (éw,& :M[u_;(_,),

L

BTN T u&-o:—n(aa-m)

10

8

[}

ol : y= -2+ (7

2 .

05 4 6 8 10 12 14 16 18 .l'\) SlAb [210) CLVLd (O/'I) IVLPO 6(‘&(/{\0/\" fofvvu,(lu_.
() Giving your answer in the form y = mx + ¢, find: ! Vl/]l = —\ -0 ~ Vl/ll = L

(i) the equation of Iy 0- 2

(ii) the equation of l,.

Sub (2.0) wnd m, who %-%.:M(k-x,),

" y-o = 7 - 2)

(b)Find the area of the shaded region.

4] '
‘ﬁ= T2 -1

For more help, please visit www.exampaperspractice.co.uk



http://www.exampaperspractice.co.uk

=

EXAM PAPERS PRACTICE

Question 10b

The straight lines I, and [, are shown in the diagram below [; intercepts the x-axis at (17, 0) and b) Sk&j CA r@g(on FO’W\S e l'ﬂ OU’\S{& i

the y-axis at (0, 17) and [, intercepts the x-axis at (2, 0) and the y-axis at (0, —1).

)

8 10 12 14 16 18

(a) Giving your answer in the form y = mx + ¢, find:
(i) the equation of Iy ‘6 = -2+ 7

i < \
(ii) the equation of [,. (ﬁ = I 2 - ‘

[4]
(b)Find the area of the shaded region.

[4]

Areee oF o %ﬂo\ngle focmunl o
A= "i l)L\ (n formula  booklel)

b He bose, e Hhe gerpencieuloc l/\ugklr
b formed bg He x-whercepts of L ond (s
(17,0) and (2,0) respechvely.

b= 17-2 S b= IS uats

N Hue Y- coorchnabe whee { and (o wbecceck
Frod where ( and (o whececk

lnbersechon = (12, S) h=s

Sub b and L wlo formule

A= 7 (15)(S)

A= 37-S unke?
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Question 11a

Aline passing through the origin 0, is perpendicular to a line with equation x + y = 16. q)
The two lines meet at point R. P is a point such that OP : PR = 3 : 1. P gRY le CULAR  GRADIENT
(a) Find the equation of the perpendicular line and hence, the co-ordinates of point R. m ] Y M 2 s |

(3] L‘:DCJJ:|(D Cj:fm“c
(b) Find the coordinates of P. 1\

-@cC +6 GrapienT
2] j
Lo W, = - | m =\
R

DCyﬁ'—\(ﬂ L\ \ ¢

)

3—j.:m(96-x.) (e/0) mM=]
s

J j: >
powtR Lizle
SuB LaNTely 5oy e = | 6

Q_x-;le

o =, St
R- (£,8)

Question 11b

A line passing through the origin 0, is perpendicular to a line with equation x + y = 16. )
The two lines meet at point R. P is a point such that OP : PR = 3: 1. b ( g' g \N THE e L 3 )
(a) Find the equation of the perpendicular line and hence, the co-ordinates of point R. é T2
R (3]
(58) gy
(b) Find the coordinates of P. v )
P &
[2]
2
L
O

(0, o)
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